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1.
(1)

(2)

H,S0, +2NaOH ==Na,S0, +2H,0
(3)

H,S0, +BaCl,=—=BaS0, | +2HCI
(4) :

3H,S0, +Fe,0,==Fe,( SO,) ,+3H,0

2. ()
H,S0, +Fe ==FeS0,+H, 1

3. ( )
KClO,+5KC1+3H,50,—

3K,S0,+3Cl, 1 +3H,0

o

(CeH,,05) ,+nH,0 ———nCH,,0,

( ) ( )
C,,H,,COOCH,

C,,H,COOCH +3H,0 ——

|
C,,H,,COOCH,

CH,—OH
3 C,,H,,COOH+ CH—OH

|
CH,—OH

A
C+2H,80,( )===CO0, 1 +250, 1 +2H,0
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2.
A
Cu+2H,80,( )=—
CuS0,+S0, 1 +2H,0
3.
A
2NaCl+H,S0,( ) ===Na,S0,+2HCI |
4.
H,S0,
CH,COOH+CH,CH,0H
CH,COOCH,CH,+H,0
5.
H, S0,
2CH,CH,0H ———
2CH,=CH, 1 +2H,0
6. ( )

7 70°C ~80°C
N | +HO—SO,H ————

0503}1 1,0

~ e~~~ o~ o~ e
RS
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1 2 ( NaBH,)
) o \ :
A ;
A.2NH,Cl+Ca( OH) ,—— NaBH,+2H,0 ==NaB0,+4H, 1
2NH, 1 +CaCl,+2H,0 ) € e
‘ A.NaBH H
B.Cut+4HNO,( )=—— ) ll\jaBH4 0
Cu( NO,) ,+2NO, 1 +2H,0 At 2
A C.NaBH,
C.2NaHCO,===Na, C0,+C0, T +H,0 D.H,
D.Fe,0,+4C0 ==3Fe+4C0, NaBH,
( -1 0 ) H,0
( +1 0 )
, . A NaBH, H,0 ; NaBH,
C H,0 ; NaBH,
C ; B > (
D ) ; NaBH,
B D H,0
o B.D. H, . D.
; 2
) o ( ) o
. A.Cu H,S0,
B.C H,S0,
(1) C.Mg( OH) , H,SO,
‘A, D.FeO H,S0,
(2)
Do . A.
(3) A ,
' B, B.
(4) B ; G
1 Co
(5) C ; D.
' B,
(6) D . B.
:AC, ( :12017-10-25)



